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Exam Shift: | 2

Langauge: |Kannada

Topic: Mathematics-Section A
Item No: 1

Question ID: 144961

Question Type: | MCQ

Question: X2+ (3 —ax+1=2a DRONY JNFNY BRI FIA, L3e3ad:
A: -

B 5

C: 6

D 8

Topic: Mathematics-Section A

Item No: 2

Question ID: 144962

Question Type: | MCQ

z=x+iy Q0 [ —2=0=D3), z— i — Iz + 5i = 0 B0, AOF,QRPATT.

Question: -

A: x+2y—4=0

B: X+y—4=0

C: xt2y+4=0

D: x2 =y Fe=)

Topic: Mathematics-Section A

Item No: 3

Question ID: 144963

Question Type: | MCQ
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Question: A=[1{zD3) B=| 122 13 —14% | e3P0, e3nl 4'B4 23e3ado:
: _15° 160 17

A: 1224

B: 1042
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Topic: Mathematics-Section A
Item No: 4
Question ID: 144964
Question Type: | MCQ
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Topic: Mathematics-Section A
Item No: 5

Question ID: 144965

Question Type: | MCQ

Pa3) Q Domnieh eadTeheden a3mSesnewes (x— 12+ (y + 1)2 =1
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Topic: Mathematics-Section A

Iltem No: 6

Question ID: 144966

Question Type: | MCQ
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Question:
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Topic: Mathematics-Section A
Item No: 7
Question ID: 144967
Question Type: | MCQ
3x
Question: FOYH a €T B= lim w e3P0, o+ B 3 e3e3at:
x—0 ox(e™-1)
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Topic: Mathematics-Section A
Item No: 8
Question ID: 144968
Question Type: | MCQ

7
Question: x= S, log 2 % (logeps, cOsecy) & 23303
A: _gﬁ
B: 2\5
C. —4
D: -

Topic:

Mathematics-Section A




Item No: 9
Question ID: 144969
Question Type: | MCQ

20m 5
Question: J. (sinx|+|cosx|)” dv 933, Fadd:

0
A: 10(n+4)
B: 10(m+2)
C: 20(m —2_]
D: 20(m+2)
Topic: Mathematics-Section A
Item No: 10
Question ID: 1449610
Question Type: | MCQ
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Question: B
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Topic: Mathematics-Section A
Item No: 11
Question ID: 1449611
Question Type: | MCQ

Question:

(1. 3) 2)0TIIOT 2x? + 337 = 5 DO DEFF 3,3 3, VYT A IJeTNE
2001 V)N O Tete):




A: tan | —=
\ T\E)
B: tan | —=
\ T-\EJ
C: tan | —=
\ T\E)
!
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35
\
Topic: Mathematics-Section A
Item No: 12
Question ID: 1449612
Question Type: | MCQ

=12 23 y=-(x-2)° D02 BTBOINLT NPT Ao A JEFT

Question: e ey

A y=4(x-2)

B: v=4(x-1)

C: y=4(x+1)

D: y=4(x+2)

Topic: Mathematics-Section A
Item No: 13

Question ID: 1449613

Question Type: | MCQ

23,303 20CDTIES P a3y, Q WOTINY DeeITNTh x> —4x—6=0
ONT DRONTNTE) T3, OJYNY y-OBETBINTH 2 +2y—-T7=0

Question: 5
R0LNTET FAONFINTE). PQ 202N x> + 37 + 2ax + 2by + ¢ =0 23,33
20;AeR0. (a+b—c) O 23e30m0:

A 12

B: 13

C: 14

D: 16

Topic: Mathematics-Section A

Item No: 14

Question ID: 1449614

Question Type: | MCQ




9 3BTHOOD b —y? =6 & DITVF DCDITCB030 x — 1 =0 T¢B03IT

Question: |31t 9 353053200 TTH BT IOT:
A: (-2+5. 6)

B: [—JE : 3]

C: (5. - 2)

D: (2+5. 346

Topic: Mathematics-Section A

Item No: 15

Question ID: 1449615

Question Type: | MCQ
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Topic: Mathematics-Section A
Iltem No: 16
Question ID: 1449616
Question Type: | MCQ
1 R -1
Question: 0<x<— oot 2L X _ 295 ¥ o533, sin i QET 3e3on:
-\E o a+p
A: 4 [1—.x2][1—2.r2]
B: ax f(1-27 ) (1-247)
C: 2% [1—x2][1—4f)




D: af(1-+7)(1-42%)

Topic: Mathematics-Section A

Item No: 17

Question ID: | 1449617

Question Type: | MCQ

Question: 2RAODTT 2)CRRCE0IIp © (g = p) ITOTay)
(~p) A g

B: pA(~g)

C: (~p)V(~g)

D: (~p) A (~¢)

Topic: Mathematics-Section A

Item No: 18

Question ID: | 1449618

Question Type: | MCQ
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Topic: Mathematics-Section A
Item No: 19
Question ID: 1449619
Question Type: | MCQ
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1
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2
[I + —=in 2x
3




o mlE)
A —lo +C
2 Se [.1: T
tan| —+—
2 6)
oG
B: —log, =|+C
2 X =
tan| —+—
53]
tan(§+g]
C: log, - +C
X =
tan| —+—
[2 ]2]
X
1 aﬂ[i_ﬁj
D: —log, | ———|+C
I =
tan| —— —
%)
Topic: Mathematics-Section A
Item No: 20
Question ID: 1449620
Question Type: | MCQ
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2
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Topic: Mathematics-Section B
Item No: 21
Question ID: 1449621
Question Type: | Numeric Answer
A=141,2,3.4,56,7}e03) B={3.6.7.9} SNT. {CC4:CNB+¢}
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Topic:

Mathematics-Section B

Item No:

22

Question ID:

1449622

Question Type:

Numeric Answer

e
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Question: = R O A A A
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030 5 30 a O 1O, e300, :

Topic: Mathematics-Section B

Item No: 23

Question ID: 1449623

Question Type:

Numeric Answer

1.2.3. 4.5 2D3), 6 B, DN0e3SATO3 eumode¢NA 1000 2H3), 3000

Question: 3 STIECNTIE TN 4 DOT DFL@eden LINA, GBS 2,630,
os3ned

Topic: Mathematics-Section B

Item No: 24

Question ID: 1449624

Question Type: | Numeric Answer
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Question: Z ———=—.39, maDI), n N ABOIM,. SN m +n=
ik +k"+1 n

Topic: Mathematics-Section B

Item No: 25

Question ID: 1449625

Question Type:

Numeric Answer

[0. 2] e203TRY ) 2sin’6 — c0s26 = 0 NI, 2 cos?6 + 3 sinf =0 DO

Question: Ae)ITONY 23;037,00 DOTRONY D3 e kr.e3T30. 3N k
[OWWN) i Aeh.

Topic: Mathematics-Section B

Iltem No: 26

Question ID: 1449626

Question Type:

Numeric Answer




40 DYWL OBNY ATIAD e3), T IO Faledon 30 a3, 5.
PINFE), 12 203, 10 202 BI0INF, 3wo,N JehedaAe NG

Question: QOT NaDIR DN, T3 Tes B3 B, 3w, NTded 0
BIOTINT, D&, F0IT 6 53 35987 IFOIIRTS, e3n
38a° 7l Aad.

Topic: Mathematics-Section B

Item No: 27

Question ID: 1449627

Question Type:

Numeric Answer

3x-8y+7z=4 QO L: k—y+3(1-Dz=1.x+2y—z=2 0W
B0 eDROT TRIB/AMIZE a0, 3x + 2y + 2 =6 DO ANIOT,

QUesion: | 0302053 NTHES FEDHBETONG. €953 L 3es3 503, 1-9E S BB
OFTVTRCTOET, SOIT 415 cos?d 3 233030 1t ma.

Topic: Mathematics-Section B

Item No: 28

Question ID: 1449628

Question Type:

Numeric Answer

(ﬁ.

3TN ReIITTED E_ y=2-¢" & BDToTey) eI3FTD ¥ =3(x)

Question: Q0T AT, e9eyrd lim v(x) FBDeZeooNE. x =0 B, *a’ D3y, b’
neh Fehesen SHTDBT ¥R A FETNRTT, x— a3 y—
eCTBINTOTO. €37 a — 4b 233030 ARSTAV

Topic: Mathematics-Section B

Item No: 29

Question ID: 1449629

Question Type:

Numeric Answer

2ROV T3 100, TAVOD BE3 199 eI, ADeO; 2330 A
RPTOFOT BRODTIES 2360 ¢3¢0 Aeliw030 Fepnysh, Jtdacinng.

Question: QBOE). FIR, BEN Tore NOR, BENTD, BHODTIE T >,
Aed030 FLHne F0eli0; edsIosANY o3 ed)

Topic: Mathematics-Section B

Item No: 30

Question ID: 1449630

Question Type:

Numeric Answer




A=(” b] .3 a,b.e,de {-1,0,1,2.3, ..... 10}, T3

Question: c d
A=A4"1 303 a3, BN AO&3;030
Topic: Physics-Section A
Item No: 31
Question ID: 1449631
Question Type: | MCQ

Fjededon 8.82:7, 45° 203D, 30° TRLS V03303 2,083t @ BoT

Question: SENEE), TR Wy LRTNF R, DACHLIRNTIOITIT, e9e)ne
230300 03 930230 3ad)

A 1:42

B: J2:1

C: 2:43

D: V¥3:2

Topic: Physics-Section A

Item No: 32

Question ID: 1449632

Question Type: | MCQ

2,003 @B IEODNT* T DBAPE ). 10 J2INNPTIES 3 IECHT? AL,
N ALETR 0 I2IRNMPT AN, BWOFONT® T OB AE ™
ACBR BRBEND) FOH,T BOBTETBELTON, TIEORNT® AL
Fndsed) B30 ALLETS TR BT, B3 . eh3),

2 IEORT® AL To,ait ed2iemNey) ADOIRN ahin® ALY J2Jons,

Question: AODAIZT. 2,003 2DI° ALET )ziomnzd) 1 mm 11 AN .
2,03 R0 TRIT 20;Re3T, FORILT0REIN BRI,
DT WeItNY Srdvel ALDALICB. 887 3D 0DT® AL i)
2R AL 30 23, 31 BT 8 ARNG. 203, e3IE0RNT®
AL 6c3¢ eJ2J0T 28T ALLET J2JoMelcd, ADO3™N
AODAIZTIOIRET. ItPLOD 3@l 2Io;A )

A: 3.02 cm

B: 3.06 cm

C: 3.10 cm

D: 3.20 cm

Topic: Physics-Section A

Item No: 33

Question ID: 1449633




Question Type:

MCQ

0.15 kg Dad0D 2,073 2F0TB) 2,0 IREBONT, 12ms™! B0
2RO, 0B, TYTOT Badesm, LBODATT 0wT, )EIn3 3.

Question: FOM) MRBOD FoRTER) Toeden tFolen et e e9:3 AT
2223 100 N e3N303533. retdod £.e31 2300 AomTE a3
Ao, 3T, 308s?

A 0.018 s

B: 0.036 s

C: 0.009 s

D: 0.072s

Topic: Physics-Section A

Item No: 34

Question ID: 1449634

Question Type: | MCQ

8 kg TRAOD 2,03 TROH e03), 2 kg TAOD eHI3L 0TI FOOD 20T

Question: FO JR0I, BROD WO BONET. ey Aotnne
(S TNATRD RN

A 1:1

B: 2%

C: 1:4

D: 4:1

Topic: Physics-Section A

Item No: 35

Question ID: 1449635

Question Type: | MCQ

5 mm 203D, 10 mm 3j2;NF 00, TRODTIZS 4 203, B ed02) TR
AR e9:3tH303 et PEOD 0@ TN 2 cm 0300 BRTE) 6.

Question: o TRYTNIYR, eo®mT3oh 303CH0T ADA 9Ny Aed3eten
2.300¢) . 4 &3Y, B RAFNT a06e3, 0D D3s3° LI NS
wO N e9ddwme3a]).

A 1:2

B: 2%

C: 1:1

D: 14

Topic: Physics-Section A

Iltem No:

36




Question ID:

1449636

Question Type:

MCQ

2,003 A3 IT3);39,03000 3VONTER 30BLEP3 F003 FLJ))

Question: FRe3 Te303.
B,=5x10" sin1000n(5x—4x10%)T e3NT3. <IT3;3° ZL3|T3 20T
A: 15x10% V!
B: 5x1078 pm 1
C: 16x1012 P!
D: 4x10% ym !
Topic: Physics-Section A
Item No: 37
Question ID: 1449637
Question Type: | MCQ

Fadedon 1.5x108 ms™! @03, 2.0x108 ms™! 2a3nPE), M, 2030, M, 0w

Question: QTR BRGNP, 3993 3OMBTOIRET, SeINY FBIIT
T903 TR
A: tan” ! f 11
| J7)
B: -1(2
1)
C: -1(3
o 1(2)
D: in~ 1 2
51n (3)
Topic: Physics-Section A
Item No: 38
Question ID: 1449638
Question Type: | MCQ

)BT T XTI 20T eNRTTR, T e3NT, Mehmord 3N
320D aheed, ;00T ©02) adren eI N 2,003 T90DIT,

Question: | 33 cdm N, Fo0DE IenT)T MORW, DITT
(230eD03 Jj2zs= 6400 km D3, g=10 ms 2 O INIAL,)

A: 200 km

B: 1600 km

C: 2133 ki

D: 4800 km




Topic:

Physics-Section A

Item No: 39
Question ID: 1449639
Question Type: | MCQ

2,0 W0 30133 FROB 0T, OB Fondow Fors, Yded Noe,

Question: 23, FI@W, yRLe),30N FEdedeh 60 Vad3) 20 V nennad. Tonetss
T30 STIDBET ALRLI;0T )

A 0.5%

B: 50%

C: 2%

D: 30%

Topic: Physics-Section A

Item No: 40

Question ID: 1449640

Question Type: | MCQ

T0d M BRODTIE 2,00 BR;30NF IZ90300 ) 0,1t Codrieh %

Question: 03y, 2L (M« M) 202 DTT LNNERN 3B BITFAIPET,
QTBER 2RNNY fe-239 N, 3TOMROITNY 9dme3ag)

A

B: 2%

C: 1:1

D: 23

Topic: Physics-Section A

Item No: 41

Question ID: 1449641

Question Type: | MCQ

60 cm * 50 em x 20 cm €3CIIRENNFTIEI 2,003 eDOTINTE, eryrdedmiyy 1 cm
B3, ABONTI JCRIET 363,110 DAT. 0°C enes 300 )
02N, T BEI,N0DT, 40°C e 30 TRBHLN

Question: | 35eNEOIRET. TH0INE,0H TOME B0 ORIV,
(ENOB Wes™ ThHeEE &) 3.4x10° Tke ! e03), ATLEF et od o
DT 3, 0.05 Wml°Cc!)

A: 61x1072 kg ¢!
61x107° kg s7!

C: 208 kg 5!




D: 30x10 kg s
Topic: Physics-Section A
Item No: 42

Question ID: 1449642
Question Type: | MCQ

2,00 9O n R, S0T;0TNEF I, BRODBOIIET. AT

Question: MITAN IO TR T &0, A0 3BRAN 9IOT IFeR
TN 9w Sag)

A: .

' n+ 2
B: n+ 2

n

C: -

' 2n+2
D: L

’ n- 2
Topic: Physics-Section A
Item No: 43
Question ID: 1449643
Question Type: | MCQ

2,003) €903, 3C0Me3m3dy y= 2sin (wi—kx) em &) &S IDRECDNG.

Question: Q3. 3001 3Ny T NDE, JNT, AeDetenen 3TVOMPOITH
D30 (em g )

A: in

B: 2n

C: K

D: 2

Topic: Physics-Section A

Item No: 44

Question ID: 1449644

Question Type: | MCQ




FTLN 3.C0ATE03 2,00 BDOTBOIT, 2,0T3 67 23083003073, ACDAT.

o 239;83000 00 [BO3NE Wz D).
30 30

Question:
A: 14
B: 24
C: s A

11
D: % 4

u |
Topic: Physics-Section A
Item No: 45
Question ID: 1449645
Question Type: | MCQ

BRtDATLHE QUBER ANTRA® DeUsNY AOOIALZR 20T
2)23eTD0IT ¥ 9T 20T e3FTEI3), ACDATS. 366 & e93),

3023, weM. Boodeteson Stees Seomoieie tédy, 38, E,
esH3 3. o 3D ohad, 30 B3, F° A 00T 5 [T Byenedd,, T
DOUTNY DTN D3 WOAING. 851 A0CIAHR TE
FRDTBOIWG 2,80, &, E, €330, E,/E,890003e))

Question:
K
(+)—
.! Te  Te
A: .
10
B: 2
5
C: 3
13
D: 2
26
Topic: Physics-Section A

Item No:

46




Question ID:

1449646

Question Type:

MCQ

Fee3,0e3 23336, 3eDATIS03B 1;=30 cm a3, 1= 50 cm

25, NPTIET DFTTFLOLLOD DT 23, I TICE DTN, X-Y
2eL3OTADAR. 333, 3eDATIE DI, 9Ny ehees =174
&30 ag) BOOINS BOSRET, DTS 53,30 F0T DEFTNY 23;233.09
el ¥ TOO3 20®@3 oY) ADARTY .

Question:
e‘ ‘r

A: 7 ﬁ, A nl:'2

2
B: . k A m2

2

C: 7 }'c .imz

-7 }'c A mz
Topic: Physics-Section A
Iltem No: 47
Question ID: 1449647
Question Type: | MCQ

2,083 a3tN 300,700 T BEF) 2 _ ) DI, B =12 mT {003
2,000 B903%LT) 5 —p }mﬁmﬁl BRODD. 03T -9,

Aueston: SOERPYS 728 F 2 3%, 130T XeForhas ES 23e3adn
(3T, % T 9.1x107° ke 0T 3REITD)

A: 192 kVm!

B: 192 mVm™ !

C: 9600 kVm ™!

D: 16 kVm™!

Topic: Physics-Section A

Iltem No: 48

Question ID: 1449648

Question Type: | MCQ




2,003 FARE 9 Cdo3 Med et TrhTeMes BTl
VT3 2303 2,003 TS TR DN M; eI, M, 20 T

TedANY, 2.3, 3. M, S Tod M; TodN03 D0ETRT.
BTATT. 53;53%,09 Seriee3,RE) a, SHIBOSRTT,

@,

EINNADIC TR I VY - ¢35, eele.

Question:
.
M 1
e M2

A: i

3
B: 2

3
C: 4

2
D: -

2
Topic: Physics-Section A
Item No: 49
Question ID: 1449649
Question Type: | MCQ

DT BR;ZO0DATE Tod F085;0D oddme3ey) 4:3 330 9N

Question:
AP0RBO 9T
A: 4:3
1
B: (3)3
4
C: } g |
1
D: (1)3
3
Topic: Physics-Section A
Iltem No: 50
Question ID: 1449650




Question Type:

MCQ

2,003 T DO 2,003 230030, ed3 e e odetNATYS ®NE
€973, e36T3 DALEAFEY) 2.5 10 m? 3N, TS MR, 3253 AT

Question: 10 2HEI 7 AmenNg. T cd)es ADeNE;E eoniy 25 e
T nen @2, e 3Tl ™R 6903, e3¢08 DALERY
( 2=10 ms™* DO INNTRL,)

A: 6.25%10*m?

B: 10x10*m?

C: 1x10"*m?

D: 1.67%10"*m?

Topic: Physics-Section B

Item No: 51

Question ID: 1449651

Question Type:

Numeric Answer

— ey M e Fa i i
2,00 230 A =[2£+3j—k]m a3 E:[Hz; +2k]m€:3t3€5. ﬁﬁ:uaig

Question:
SROTITI ADT & 907y .
Topic: Physics-Section B
Item No: 52
Question ID: 1449652

Question Type:

Numeric Answer

FCOTE BT TR eD3), MES, ©0WeN 3, OFE
2L STHTHES 2,00 Y OIRTOTE ATPN 23T S F205ad)

Question: i
(ROPS VT3, 10453 m RO TRE )
Topic: Physics-Section B
Iltem No: 53
Question ID: 1449653

Question Type:

Numeric Answer




23,0053 B3I TE). A2 BELFE 0 AC O BLTE
AT ;0T e)TIES T3 ), B3NNGS, e9T3D0E 60° ZREITE). 230 AC
1 303000 BFIS Ae ey TR, AC eI, Ae3DTROTB

DHIT. BB BHDDD BOE,08 51— % 333, x = 235080
(MR &33,23a3mS APLF;0F = 1.5 DO Teéd13)

Question:

Topic: Physics-Section B
Iltem No: 54

Question ID: 1449654

Question Type:

Numeric Answer

B FTYNS AOWOTTOI QTE) BT a8 00A°TE)
HOOIRLZRNPOR) ednien DRLDATIIN 2,0T30 LITe0
U BONAF 3N e I &l:

Question: fX . i lzX = '%Y
FeDhedon ? y a3y, 4y N 2,003 BA;300A° OGS BEieH 1.1 MeV
23, 7.6 MeV e3na30iesd. 8 30dhodh ), @ndolnt JFdodw
MeV.
Topic: Physics-Section B
Item No: 55
Question ID: 1449655

Question Type:

Numeric Answer

2,003 IND3 2300 20 m ST L3 e303), 0.4 m” 98, 36T
e)ALEEITES 20 kg TRAOD 2,053 AeNTRB 0TI AUF,

Question: SeBTTORNG. oI, A0 III 0N, BOMDIRE AP AT
xx107° m eSNE 0, x 5 233 :
(Y=2x10" Nm™ e 3) g= 10 ms ™ 2053 FeE3,33)

Topic: Physics-Section B

Item No: 56

Question ID: | 1449656




Question Type:

Numeric Answer

33TC), 3OATITOI 2,053 CE 3050 £59)),%,0° 3000 3ne
CRFLIFTONR, DERT. VBTOILENATIZ ehHoBOTE), MBS

230N E).2 kQ Bl ADAT. 0.50 k2 &30 A0 20T ([ ag)E3?)
CRtTeNGS. M s 39 A0 eg@fe), 30D 338 30w

Question:
1) T
T ST :
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=== I
= | | |
17 o
| | | |
et > X
100 200 300 400 g (pAd)
Topic: Physics-Section B
Iltem No: 57
Question ID: 1449657

Question Type:

Numeric Answer

AB =3 em. BC =34f2 cm e03, €4 = 3 em 2I0TINF 2,003 ©OWZTRLD
32302336, 4 03 OO0 TR 2RE3AIIPNT,, 4, B, C edeenye)

Question: 5uC. 0.16uC a3, 0.3uC e3:3¢3MY W00l e T 2J0E
€323CINY I, DAT. TMRTIT ©0WTRLR eDBSOHE) R ese3tTad) 93T
€33N ead2Zed @I MO0 DT80;3° W) N

Topic: Physics-Section B

Item No: 58

Question ID: 1449658

Question Type:

Numeric Answer

2,003 8 Q BRLEE ADFYONE), 239%; T3 T L3DHOweN
FOOB OB 53;3;0h@emMmes To030D BT, 6 = - (9-7"|esNT. To©

Question:
YRTSON .75, B 30T MTILARE). o033 03emas 2.63),
T 23e303n I

Topic: Physics-Section B

Iltem No: 59

Question ID: 1449659

Question Type:

Numeric Answer




4V emf BRODTE 2,003 Fjeiecdd TeCT e 3, 780 Q CLtFNT,
ATEDODE), 300 em VTS 303N 0TS 2,053 Fyéda) O3acdoeITr
ACDAT. 37 wW@Edd C8.8€eIedT* 3030 eNAOT 2,07 AT RWjeled

Question: BOCINSTS. 20 mV emf BRODTIT BT, BT, 2IOTIR VT, 60
em O FORITRL,RNT. TMOET &3@E3), 03.882083T° 030D
SNCI{ATN ) Q.

Topic: Physics-Section B

Item No: 60

Question ID: 1449660

Question Type:

Numeric Answer

FRE3,0he3 B3 T03. ked3), 2k AMTHY A T00TeITed ATPNEma,
Ted m It ADAT. 233 (a) IC), SOBRLOTET 333 T 35, VOIT 233,
(b) B€), 50T RLOTE LITIETOO fy s BT, x & 23300

Question:
figure (b)
figure (a)
Topic: Chemistry-Section A
Item No: 61
Question ID: 1449661
Question Type: | MCQ

St RETLRALLIT® 0.34% am), T2),£0 TadODY, DAODT. 3.3 g Tadd,
CofB3@ETAL)T ) Boel Fe @0e300e0n e A0aS;030

Question:
(33, Fe O3 BT300€0) T 56 u, a3, Ny =6.022 % 102 mol L)
A 1.21 x 10°
B: 12.0 = 1016
C: 1.21 x 1020
D: 3.4 x 10%2
Topic: Chemistry-Section A
Item No: 62
Question ID: 1449662
Question Type: | MCQ




BINTRINTD, INY ABXS0EF F20EE HODICH TNTE),
2 ReTs A

A. CaF,
Question: B. CaCl,

C. CaBr,

D. Cal, 1

FFN DT e303),NYE). ADOIE 3 Tadady, e3DA.
A: B<A<C<=D
B: A<B<C<D
C: A<B<D<C
D: A<C<B<D
Topic: Chemistry-Section A
Item No: 63
Question ID: | 1449663
Question Type: | MCQ

XII &3¢ 3TTE00 A DENPT 930 Srrohadea, i3 3550 pH 8.26
23TPe);e)TIeS 2,003 EEIT? WBTT (337,) TRjesed S0ITVTY e3TVTBEN
FeHITU. 2,00 OLEIT® PO Tiwyesce 3030DAEN THECIN 0.2 M
£923/0¢ 0319 T923eat3¢), )TN AP LITE 9300

Question: BTRLG,ES e3 e .
T3 pKy, (NH;) =4.74
NH; & 230¢e590° T2 = 17 g mol !
NH,C1 & 230¢e590° U2 = 53.5 g mol ™!

A 535¢g

B: 723 ¢g

C: 107.0 g

D: 1260 ¢

Topic: Chemistry-Section A

Item No: 64

Question ID: | 1449664

Question Type: | MCQ




30°C B€), AB, oIS eJZ32RMON 9530010 200 s T18H e03), AB, &
@YT0LIT ATICAN0T cdNTEIRNTS. 80% Had), AB, I3z TBROTIN

Question: SSIAE TIADIINIA RSN ATEWN
33 log2=0.30
log 3=0.48

A 200

B: 323 s

C: 467 s

D: 532 s

Topic: Chemistry-Section A

Item No: 65

Question ID: 1449665

Question Type: | MCQ

FYN 0E TEPING T, BN, 20BN, BySTOWS (A) 20T
TN e3P 0T, To09 (R) Q0T DADACTING.

B 3TWR A:mdea NTYeES 23,3 TOD) W, B, Feany meded)
FHeF0, 003 [T D33 (RE0Y) S03T D) e903eeN 33,3

Question: 2360, BRI,
To0e0 R: 30 De3eants? 239,53 BOTFLEBEINROT FENP O3
RF0e BLRODE B3RS 3TN TS ete3 e9z300) 3N,
SR WELFINF ), MDA, TENS 308,19 938,03 FAT R
eN3 Tadmy, e3DAD.

A: A 2D3) R Q0GR ADCIRNE .STC Red) AT ADOIRE «)e3Bm0le NG,

B. A 2D3) R O0GBE ADCIRNES, e300 Rad) AT ADCIWT

' eJedCmeCitene)..

A ADOING, e300 R Swe, NG,

D: A 3@, NG, &30 R ADONG.

Topic: Chemistry-Section A

Item No: 66

Question ID: 1449666

Question Type: | MCQ

€93,;03 THad) Weom 0t BRODTY, e03) ehélemairnn

AUESION | BT SDOIRRT A9, STE0IE ELetBIT:
A Al
B: Ga




C: Se

D: In

Topic: Chemistry-Section A
Item No: 67

Question ID: 1449667

Question Type: | MCQ

Question: A3 ;T8 BNROTT DD 0T VTS TN RPACTINTG uptE0eIT:
A: Aluminium

B Iron

C: Lead

D Zinc

Topic: Chemistry-Section A

Item No: 68

Question ID: 1449668

Question Type: | MCQ

B, BALET BOoE,,T eH3), €367 LODRBPIT FeE30A0DHO

Question: | ST FOTIReErTIeh BORD SIERITHTOOT 05T DI ,Ne)
A: Mn*", H,0 a&3503,

B: Mn®", H,0 23593,

C: Mn*". H,0, 0, &3503)

D: Mn”", H,0, 0, 33503

Topic: Chemistry-Section A

Item No: 69

Question ID: 1449669

Question Type: | MCQ

FEN 0E TEPING D, DEBRING. 20BN, BySTOW (A) 203
BOTIR eNIMOTIR, TR0 (R) O DADASING.

BTN A: LiF oj) DD, e9e), ede3todetameg)t.

Question: o080 R: Li” £90350)3 e90350 )5 325553 33, THODS ATHON03
€93;03 233,000N5. FTTE0. T@, WETTEI 0GR 0N, BRODE.
e Aetts BERTINY ), M)A, TENS esod, ) eod03
NPT T 003 Tedrd, e3DAD.

A: AD3) R Q0B ZOOINE., STTC Red) AT AD03RE )edUmoie NG,




A 23, R OUBR ADOIIRNGS, &30 R e AT ADOIRT

5 DSRTHBOIPNEY..
A ADORNG, ¢3030 R 3o, N5.
A 3@, NG, 330 R ADOIWNG.
Topic: Chemistry-Section A
Item No: 70
Question ID: 1449670
Question Type: | MCQ

FYT D0E) TBEPINYD,, AEBERND. 2,00, BSTOW (A) 0T
TONR 23RO, To00 (R) 20T ®AROARING.

R TOTS A: 2320F 523 23) THWE edad) 23N,
T2060 R: 23205 eSed o)) 3c3,@8,.F, o) H es0iioaiady, 2)@ancd

Question: SIBIE AEDEEe) T NG, 953 DO OH- L903T0RT,
A LTOAEHT a3, H™ e9Cinindd, LITBINTE e30t@dad)i).
el Aetels WERTNY R, MebDA, TENT esod, e ead;03
NPT T U3 Tadadd, e3DAD.

A A D3 R Q0B JIDOIIRNES, 330 Red) AT AD03E e300 NG,

5 A D3 R Q0BR ADCINES., 3BT Red) ATt ADOTWT
edelColeNe) .

A ADORNG, 3030 R 3woe,N3.
A 3@, NG, &30 R ADOWNG.

Topic: Chemistry-Section A

Item No: 71

Question ID: 1449671

Question Type: | MCQ

GBONFT0ICONwNT] SRC®EES AOBCEIE o)

Question: ((33.: B0 BO3sNehH: Fe.26: Cu,29)
A: K;3[Cu(CN)y,]

B: K,[Cu(CN)y,]

C: K;[Fe(CN),]

D: K,[FeClg]

Topic: Chemistry-Section A

Item No:

72




Question ID: 1449672

Question Type: | MCQ

B3, 1T 203 J/E3, 11 o, DRODAD

=3, 1 =e3, 11
HOJIT0T e
A ART, L00236.ITED I 3,,& nNedmeds
Question: B. AA; @RIRET20TNED I1. 1,3 30,25

C. dmwed O Getmnsd | L teAeobds fee,0

D. e9a3A003 (MA) IV. TorAm0lcls S0aiab o

FEN T3 e30d),NYE), DO 3 T, e3DA.

A: A-IL B-IIIL C-IV, D-I
B: A-II. B-I. C-IV D-III
C: A-I. B-IV. C-I1, D-TTT
D: A.l B-IV. C-II1. D-IT
Topic: Chemistry-Section A
Item No: 73

Question ID: 1449673

Question Type: | MCQ

IUPAC @0l &3, 30003 3,030 MONE wodA 5 (993083

Question: L2 oD TOCRE FHad)

A — COOH > — CONH, > — COCl > — CHO
B: — S0;H>—COCl>— CONH, > —CN

C: — COOR > —COCl>—NH, > >C =0
D: — COOH > — COOR > — CONH, > — COC(1
Topic: Chemistry-Section A

Item No: 74

Question ID: 1449674

Question Type: | MCQ

Question: 0BT A0OINT T, TFNT)NFE). O3e)E) NIBTHODE). ?




®
S
C: |
o
> NH,
D:
\“;,/l'
Topic: Chemistry-Section A
Item No: 75
Question ID: 1449675
Question Type: | MCQ
Question: FFNT AOONTFNFS). O3T0ed)Td) €3:22600 28I 2T0RNE),
' T REOT 3330 FRABIHEY?
A: E\}é G:)Jfaﬁ
B: 23022¢° 03,23.eC 003 BRLT,
C: Woweer =R,
Topic: Chemistry-Section A
Item No: 76
Question ID: 1449676
Question Type: | MCQ

0
[ A

Et0 — € —HyC — CH,CH,cN D DIBALH
T (i) H0

Question:
[Et 23—C,H; e3133]
2t 3oDoR, MeddA, Wzdned evd 8o, 394
A OHC — H,C ﬁ CH,CH,CHO
0
B:

l
EtO — C — H,C @ CH,CH,CHO




0
I

C: EO —C — uzcﬁ CH,CH,COOH
D: OHC — H,C Q CH,CH,COOH
Topic: Chemistry-Section A

Item No: 77

Question ID: 1449677

Question Type: | MCQ

T3, Thes 30D ohe), )TN ADOIRE JLh T

NO, OH

Question: éj éj

.

NH, I

A HNO,. Fe/H. HNO,. KI, H,O/H"
B: HNO,, KI, Fe/H™. HNO,, H,0/2)3035203
C: HNO,, KL, HNO,. Fe/H™, H,O/H™
D: HNO,, Fe/H™, KI, HNO,, H,0/2)A303003
Topic: Chemistry-Section A
Item No: 78
Question ID: 1449678
Question Type: | MCQ
Question: PeINF edoFeazdndd, FoCNA T, U a3 L5000 alioBerama .
A: E0APEy a3, A, D
B DOy eh3), Ae T°
C: E0AREYT a3 A T°
D ~DCi@eye® a3, Al D
Topic: Chemistry-Section A
Item No: 79
Question ID: 1449679
Question Type: | MCQ




Question: YD DHBT, (FOLFE) YRe,003) BATY
A: 93, e3eCA¢

B eees, AT

C: (IOl TV

D 953,50 8,

Topic: Chemistry-Section A

Item No: 80

Question ID: 1449680

Question Type: | MCQ

FYN TR TEPINF T, DEBEPNG. 2,003, )TN (A) DOT
BoTIR IR0, TR0 (R) 0O ®ADACING.

R TOWS A: 0@ D 2,003 pH 92300203 AeeFTadancd),.
€200 00 RIS, 2260 Tde3een a3, &35 00

Question: S ;eNE@), M) 26 3™, TRWISE
FTOUO R: o)dnam O 2,003 TR 83a3)., 3335ed2 L0
EAVDIA AV AL IEN[OWOIE TN OVDTANTR TATS N
e AT BELTNF ), MDA, TENS esad, e ead;03
NPT o3 TJairdy, e3DAD.

A: A 2D3) R 00BR ADCIRN., SEC Red) AT AD03RE Jed0mode NG,

B. A 2D3) R Q0GBR ADCIRN. SWC Red) AT ADCIRT

' eJe3CmCITNEe) .

A ADOING, ¢330 R e, NG,
A 3559,N3. 430 R ADOING.

Topic: Chemistry-Section B

Item No: 81

Question ID: | 1449681

Question Type:

Numeric Answer

Question:

27°C 23, 6 2300° 2,3BEE). 0.0125 m® ARENT;E TS T[ZHO0N 10 g B,
T,CE R 203, GO0 AT LI, BRODT. T3 Toas
&t 00 TRACN c.

©3:R=8.3TK ! mol™!
(H 23), He ®0a309£00 D3Meh Fehadon lu e03), 4u Mewnas)

Topic:

Chemistry-Section B




Iltem No:

82

Question ID:

1449682

Question Type:

Numeric Answer

By ¥ D, NRTOIF LICRFOED 530, OTDITELS

Question: SR EODNA® ‘a’% D&Y, @ R TFR, 3T, 0N moad;No3
DTN BRODTD. ‘a’ 3 a3iP;ed)

Topic: Chemistry-Section B

Item No: 83

Question ID: 1449683

Question Type: | Numeric Answer
#odmen

H,F»(g)— Hy(g)+F)(g)

27°C &) AU=—59.6 kJ mol ™!

Question:
2O HODHOHAR 0T, WTTVETHOR (-) kJ mol™!
[Aedf@E RRTEIE0T]
(33:R=8.314 JK ~Imol™)

Topic: Chemistry-Section B

Item No: 84

Question ID: | 1449684

Question Type:

Numeric Answer

eIT; D IV, T3 TWjed; A O 1 BRI TRE3tals BRI0TII
DTN 3 K NG, PG je3TRE), 2 e30e0e A L9303 eyt TTE

Question: | 29073369 212353 6 K e3NT. Ky, 3030, K1Y 90530353 Ky/Kead 1: X
ATIEHT. X &3 23i0e); :

Topic: Chemistry-Section B

Item No: 85

Question ID: 1449685

Question Type:

Numeric Answer




20 mL S3&), 0.02 M &,530009e300e30), 6907 Kl med3;me). a3y,
AOLFE ALRFTLI LBAEEMDOL 10 mL Joelyts A3 £&3°
DY RRERODT €3,£365000 SRaEeRNE. Cu?™ & SOt

- = eIDE 0N x 1072 M.
Question: —
63 2o AT S Gl V5
Lt 2800 <331+ 5,00
Topic: Chemistry-Section B
Item No: 86
Question ID: 1449686

Question Type:

Numeric Answer

FEND oInye). enodsamhzs 3 5, B ohe) F0mI20e
903 AT TLNAY,E RE3odone A0ad;030n

Question:
C,H;OH + PCl; —-C,H:;Cl + A
A+PCl;—B

Topic: Chemistry-Section B

Item No: 87

Question ID: 1449687

Question Type:

Numeric Answer

MnF 5, MnF; 2030, MnF, ¥, &@8,200 o038 B0 Aoed P )%,

Question: AOCINTD e 23303 Fo03 eI D e3325ed) B.M.
[Aedf@ES RRTEIE0T]

Topic: Chemistry-Section B

Item No: 88

Question ID: | 1449688

Question Type:

Numeric Answer

T, R, B0S BELIR, SOIRBALONBTRODATN

Question: eN0E3MIES (G5ededd 30D AedieoNNeady, ALDA) 2.8, AedlooNne
AO&5;030

Topic: Chemistry-Section B

Item No: 89

Question ID: 1449689

Question Type:

Numeric Answer




100 ml &ad),, CH3CH,MgBr G9je3£9a3m3), enBmeer* S a0l ALD AN

Question: 2.24 ml B3, e9Iegd) STP 01 &), LITINTBOIRMEIH TN, DRINBRR0TE
IO 30T mg.

Topic: Chemistry-Section B

Item No: 90

Question ID: 1449690

Question Type: | Numeric Answer

FENDINYE). @), BRDMEH A0 Suetded @825, I3nen
Question: N EOBOIPNE:
AT, AT, B O G, EFDe3e, e AT




